ASTRONOMY 5

Cosmology and Galaxies

Spring 2007

QUIZ #5, April 18, 2007

Your name: ____________________________________

Please fill in the blanks:

1) “Metals” is the astronomer’s word for all elements heavier than                    _________ 

    helium.  You would expect the oldest stars in the Galaxy to be

    “metal-poor” because:   (pick all that apply)

      (a) There were very few supernovae before these stars.

      (b) The oldest stars are close in composition to the primeval material 

            coming out of the Big Bang, which was hydrogen and helium.

      (c) The interstellar gas was not yet very enriched in metals when

            these stars formed.

2) Thought question:  Planets like Earth could not have formed early in the     _________

     life of the Galaxy because:

     (a) Stars with the mass of the Sun were not forming then.

     (b) There was not enough interstellar gas to make stars and planets.

     (c) Planet-formation requires heavy-elements, and the heavy element

          content of the interstellar gas was too low initially.

3) One way we know that we are not at the center of the Galaxy is:                  _________

      (a) The brightest stars in the sky that we can see with our naked eye

            are mostly off on one side of the sky.

      (b) The system of globular clusters is not uniformly distributed around us on the sky.

      (c) Hydrogen interstellar gas is seen to form a layer in the disk.

      (d) The band of the Milky Way wraps around the whole sky.

4) Below are some properties of the two great structural components of the Galaxy, spheroid and disk.  Put S next to the ones that apply to the spheroid and D next to the ones that apply to the disk.

   (a) Stars are uniformly old.                           
_________

   (b) Stars rotate in circles.                                    
_________

   (c) Contains a layer of dust and gas.                     
_________

   (d) Still making stars today.                                 
_________

   (e) Stars on disorganized, scrambled orbits.         
_________

   (f) Contains globular clusters.      


_________

   (g) Stars are a wide mixture of ages.     

_________

   (h) Sun is a member of it.       


_________










